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ا%#!د )!ارد )* ا%0#/وآ4!د$02/$-,ت )!ارد 7#1 ا#2%;#,:9 ا%-?,<> /0-@A)I

-
(B%ا%;@,د CEو .,م <>,?.:

,;GI ، BKMN%ا OP> R;Aج ا%-?,<> هTا B#آ/I B5راO%1#/وآ4!د$02/$-,ت *NM!ل 7*

WGI )* ا%;!9% XR#آ/. $!دا%0!.,5#!م *NM!ل 7*

K)ا%0!.,5#!م
+
+I

-
) .7*R%ا 1;/ور ا%#!د 9:,PY <2Z. .]!ر )1,-Aو ا%;!9% XR#آ/.

ا%-?,<> هTا .[Oم OHول .أA`ء

%c>,?-;Nت B#:اO-1dا ا%;,دة آ;#,ت f4Iا .OM;%ا ا%;-?,<> ه9 ا%#!د )!ارد أن h0Yأ.

ا%- i5!%ا 9E ا%#!د 9:,Pj% 9:,kP%ا R#ا%-/آ f4I9اN>,?. 

7*R%ا B%dO1 ا%#!د 9:,Pj% ا%;!9% R#ا%-/آ /#l. BHT;A 72;$tB#m,$/%ا Bnc@%ا CEو:

o#Iαو  k1-,ن,Y .

$2!ن B#:,kP%ا B%,M%ا OP> /0-@At → ∞ . h1,j%ا B;#n f4Iاα . 

B%dO1 ا%#!د 9:,PY <2Z-% B#;GM%ا B>/4%ا <0,رة أن h0Yاα،kو tBnc@%,1 t[@.،:

f-0,رةاآ>BKMN%ا OP> B>/4%ا XTه  . 

،B?N-u* B#P*ز %KM,ت OP> 9N>,?-%ا i5!%ا 9E ا%#!د 9:,Pj% ا%;!9% R#ا%-/آ O$OM. 7* ,P2;. B05,P* B]$/[1

B#%,-%ا w:,-P%ا tN> ,PNxM.و: 
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W5ر WN5 5,1-@;,ل B%اO%ا tPMP* W5ار:

BKMN%ا OP> ا%#!د 9:,PY <2Z-% B#;GM%ا B>/4%ا B;#n ,#A,#1 f4Iاmin.وBKMN%ا OP>.

h1,j%ا B;#n w-P-5اk.  
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ا%4G#;,ت    اh%,1!2%اB$!Aإن .Oxر B@Z* B$!Aا–β.

§B@Z;%ا ا%P!اة  .</ف

؟§ h%,1!2%ا A!اة *A!2,ت ه9 ,*
ا%4G#;,ت§ B@#0� ه9 ,*–β؟
E,1-/اض§ h%,1!2%ا !2?. B%د,@* f-71أناآdا A!اة

BG.,P%2!نا.,Yإ B%,I 9E  رة. t[@$  : 

XCoNiFeMn

Z27282625

§h%,1!2%ا /:,KA 7* BG.,P%ا 71dا A!اة ؟ه> %;,ذا ؟
,k-N-آ h%,1!2%ا 7* BP#> 90� Rآ/* <0]-4$ :οm.  

cvل BP#@N% BYد,M%ا ا%-?22,ت <Oد /G#H <Oاد B[51!ا $OMد
ا%)@,< ,k�,ZA E#[,س1,%-,9% 7*R%ا ، 9A(t)وOIة
B%اO%ا 1#,ن W5/A f5,P* w*,A/1 ln: وOu-5,1ام A= f(t).

ا%)@,<9§ ا%ZP,ط <0,رة f-اآA(t)BKM% آ> OP>t  B%dO1:t , λ ,Aο.

§BN-2N% B#E/M%ا ا%@0,رة f-اآοm B%dO1 : M(Co) , λ ,AοوNA . 

ا%0#,ن§ tN> ا%)@,<d,1:  9<-;,د ا%ZP,ط h1,Y f4I ans: 1ـλا
-
¹  .  

§BN-2%ا XTه *[Oار f4Iأοm.   

ا%@;/§ *xA ز*7 f4Iاt½h%,1!2N%
%h%,1!2N:ا%;@]#,ت B$رT%ا B#%!;%ا BN-2%اM(Co)=.

اE!,,درو .O>=NAد

5(!4() -./'"()

التوفيقب

المادة ناجي: أستاذ
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